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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type questions, you have to choose any one of the four alternatives given in the
question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to
you.

All the questions including objective-type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper Code No. 68/0S/2, Set—| A | on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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General Instruction / ™= 391 :

1. Answers of all questions are to be given in the Answer-Book given to you.

Ul 99T % AL SATYR! < T ITX GRaawT 7 & foed |

2. 15 minutes time has been allotted to read this Question Paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 Y91 I Ue o 17T 15 feie o1 a9 feam man | oot a1 faaeor aue & 02.15 51 fomar
ST 1 02.15 1 & 02.30 St T BT bad 99797 & g 3i 36 1Aty & e J Sa—gRaa!
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Time : 2% Hours] [Maximum Marks : 85

21 ww] [quie : 85

qHg

Note :

fodar :

(i)

(ii)
(iii)
(iv)

v)

(i)

(ii)
(iii)
(iv)

v)

This question paper consists of 44 questions in all.

All questions are compulsory.

Marks are given against each question.

Section A consist of

(a) Q. No. 1 to 17 - Multiple Choice type questions (MCQs) carrying
1 mark each. Select and write the most appropriate option out of
the four options given in each of these questions.

(b) Q. No. 18 to 28 - Objective type questions. Q. No. 18 to 27 carry
2 marks each (with 2 sub-parts of 1 mark each) and Q. No. 28
carries 5 marks (with 5§ sub-parts of 1 mark each). Attempt these
questions as per the instructions given for each of the questions
18 to 28.

Section B consist of

(a) Q.No.291to037- Very Short Answer type questions carrying 2 marks
each.

(b) Q.No. 38 to 42 - Short Answer type questions carrying 3 marks
each.

(c) Q.No. 43 and 44 - Long Answer type questions carrying 5 marks
each.

T U H A 44 YT 2|

il ueT SifEr |

TA% U % 9 o i ¥

g - & § e ¥

(a) UT-EE 1 ¥ 17 T& Tglashedd YbR & 99T ¢ ok Jds 1 3%
B %1 T 9 UUE 9T H RU T ar fgeedl ¥ 999 SugE (e
B I B @ B

(b) UsT-dEr 18 ¥ 28 T& IR YA & Ued & | yed—den 18 ¥ 27
qHh Th U9 2 b & & (YA 1 3ih & 2 IT-AWI & 9q1Y) oix
TG 28, 5 3ikl w1 T (IAB 1 3k b 5 SU-HFN & G1Y) | TIh
usT 18 @ 28 & fuu feuw g frdetf & oo wedi & wOx fa|

gE - @ § i ¥

(a) U@ 29 ¥ 37 T @Y SAUT YH b A—aAA 3l b YT 2 |

(b) U@ 38 § 42 I @Y AU YA &b AF—dH b b U9 2 |

(c) WG 43 TG 44 qd ST YK &b qra—ura 3l b 99T |
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SECTION — A/ @% — &

1 Factors of 4x2 — 92 are : 1
4x2 - 9)2 % TUHES T :
(A) (4x+9y) (4x—9y) (B) (2x+3y) (2x—3y)
©) (2x-3y) (2x-3y) D) (2x+3y) (2x+3y)

2 Factors of 1 +x+xy+x2y are: 1
1 +x+xy+x2y & THES ¥ :
(A) (1+x) (1+xy) (B) (l+x) (x+y)
©  (x+y) (1+x) @) (1+x) (1+)

3 The HCF of smallest composite number and the smallest prime number is : 1

I B Y & U9 99 B 9T G Bl 9.9, © -

A) 0 B) 1
€ 2 ) 3
4 If the number of illiterate persons in a country decreased from 150 lakh to 1

100 lakh in 10 years. The percentage rate of decrease is :

gy 10 auf & T 9 A Afyfad @ @ d@eEr 150 @@ € geah? 100 @ 8,
qr erftfera S ged &1 wiaed X §

(A) 30% B) 50%
1 1
(C) 33=% (D) 23=%
3 3
5 Simple interest on I 2,500 for 2 years 6 months at 6% per annum is : 1
% 2,500 &I 6% AMYb X & 2 I¥ 6 AW BT HILRO AT ¢
(A) % 275 (B) ¥ 350
(C) X 375 (D) T 750
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6 Perpendicular distance (in units) of the point P (3, 4) from the y-axis is : 1

fg P (3, 4) & )—31q ¥ daaqd g (F@E H) T

(A) 3 (B) 4
(O D) 7
7 A point P is 5 cm away from the centre of a circle and the length of the tangent 1

drawn from P to the circle is 4 cm. Radius (in cm) of the circle is :

THJAh H% A S A B U W % 45 P Ryd ¢ o fog P & g9 WX @i
TS Wyl @ B waE 4 9 B ga & B (@ H) %

(A) 6 B) 5
(C) 4 (D) 3
8 Angle subtended by a semicircle is : 1
(A) acute angle (B) obtuse angle
(C) right angle (D) straight angle
TH AU H I FAM BV I T
(A) T BIW (B) @i wior
(C) THHIT (D) |IA B
9 The difference between the circumference and radius of a circle is 37 cm. 1

The area (in m?) of the circle is:

TH A B U T B @7 eR 37 T ¥ SH g9 b1 &% (S I ) T

(A) 111 (B) 154
(C) 184 (D) 259
10  The curved surface area of a cylinder of height 14 cm is 88 cm?2. The diameter 1

(in cm) of its circular base is :

14 T TS % Uh ST D1 b JSOIT & 88 AT T €| T I % JAB SER
® AW (G ) F

(A) 5 B) 4

© 3 D) 2
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11  Two cubes of edge 12 cm each are joined together. The surface area (in cm?) 1
of the new cuboid is:
g1 o, T gcdes ol o 12 991, ofed § Bemg S €1 99 599 %1 S & hd
(@@ o W) @

(A) 1440 (B) 144
(C) 140 (D) 72
12 Ina A PQR, right angled at O, PO=3 cm and PR=6 cm. ZQPR is: 1
s YA POR, T&H £0=90°, § PO=3 ¥H Ud PR=6 ¥HIl LOPR &
a1 2
(A) 0° (B) 30°
(C) 45° (D) 60°
13 If tan2A4 =cot (4-18°), where 2 4 is an acute angle, then the value of 4 is : 1

afE tan2.4 = cot (4-18°), W&T 2 4 Th [ABI &, A A BT A &:

(A) 26° (B) 29°
(C) 30° (D) 36°
14 If 3 tan 4 =4, then the value of cos4 is : 1

g 3tand=4, A cosA & AF &:

A 3 B) =
() 3 (B)
C 4 D 3
© 3 ™ 3
15 Which of the following is not the probability of an event? 1
frrfafad & 9§ @9 Uo fhEl g ol Widhar Tl & 7
(A) 0.5 B) 25%
o - Dy >
© - ™
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16  Which of the following is not a measure of central tendency of a data? 1

(A) Mode (B) Median
(C) Mean (D) Range
frrfafad & & @ fhEl Siihs & B=d UIrd o1 AT &l & 7
(A) TEAD (B) wIfa®
(C) wre™ (D) Uf@Ex
17 The median of the data 10, 12, 14, 16, 18, 20 is : 1
el 10, 12, 14, 16, 18, 20 &1 HlE® &:
(A) 12 (B) 14
(C) 15 (D) 16
18 Fill in the blanks : 2
(i) Factors of ¢443 +27p3 are (4a+3b) and ( ).
2 2
1 -1
(i) Sum of X and al is
x—2 x—2
e @l &t gid ity

() 64> +27b° & OEES (4a+3b) T ( ) E |

2 2
.. x“+1 x° =1
(i) 3T @1 TN Tl
x—2 x—2
19  Write True for correct statement and False for incorrect statement : 2

(i) 15t term of the A.P. —10, -5, 0, 5, .... is 65.
(ii) Sum of first 20 odd natural numbers is 400.

T BT % 0 g @R T ®9+ & e o fafew
(i) FHEaT & -10, -5, 0, 5, ... &7 1597 95 65 T
(i) W 20 fawA grpa demstt @1 ARt 400 F1
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20 Match Column-I statement with the correct option of Column-II :

Column-I Column-II

(i) If P (-1, 1) is the mid point of (A) 12
the line segment joining 4 (-3, b)
and B (1, b + 4), then the value
of b is:

(i1)) The perimeter of a triangle with B) -1
vertices (0, 4), (0, 0) and (3, 0) is:

€ 2
WY1 & HIT & W11 & FEl fape o fraw sifse -
-1 wWH-11
(i) afs fagelt 4 (-3, b) T (A) 12

B(1,b+4) & (@Es & 7 a3
P(1,1)% d b A9 &:
(i) U var fryw, fae O fag (B) -1
(0, 4), (0, 0) TF (3, 0) &, @&
gy &:
€) 2

21  Fill in the blanks :

(i) If TP and TQ are the two tangents to a circle with centre O such that

ZPOQ =110°, then LPTQ =

(il)) ABCD is a cyclic quadrilateral in which 4C and BD are diagonals.
If /DBC =55° and £ZBAC =45°, then /BCD is

Pt TY 9 IR AT -

() o= fog 0% g9 &1 & wWet Y@ 7P wd 70 36 WK ¥ 6 LPOO=110°,

@ LPTO =

(i) AC qam BD Wa @b agqa & faavt ¥1 afy £LDBC =55° g
/BAC =45°, @ /BCD Tl
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22 Write True for correct statement and False for incorrect statement :
(i) 4, P and Q are three points on a circle with centre O. If LPAQ =35°, then
ZOPQ =50°.
(il)) PQORS is a cyclic quadrilateral and side PS is extended to the point A. If
ZPQR =80°, then ZASR is 100°.

W Hee & T T o T e % o e Rty
(i) u® g, ee &= o5 0 3, W aF &5 4, P aan Q §1 3k £LPAQ=35°,

ar £0PO =50°.

(i) TH T AGYST PORS &I Gl PS Bl 165 A Teb So1A1 71 § | AT LPOR =80°,

al ZASR = 1000,

23  Fill in the blanks :

(i) Two chords AB and CD of a circle intersect each other at a point P inside the
circle. If PA=4 cm, PB=x+3, PD=3cm and PC =x + 5, then the value of
X is

(i1)) AB is a diameter and XBY is a tangent to the circle with centre O. C is a

point on the circle. If AC = BC, then ZCBY =
e @l &l gfi st

(i) UH Id Bl I SEE AB T CD TR Id & <X Th 95 P U Hiress &l
Tl afe PA=49H, PB=x+3, PD=39d 3l PC=x+5, d x &1 A
T

(i) U ga, faar &= &g O %, &1 = 4B qo1 & wsf @r XBY ¥1 g9 W
s fog C &1 3fe AC=BC, @ ZCBY =
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24 Sonal bought a wall clock to gift her friend Anjali on her birthday. The minute 2

hand and hour hand of the clock are 10 cm and 7 cm respectively. On the basis of
above information answer the following questions :

(i) The angle described by the hour hand in 30 minutes is:

(A) 30° (B) 25°
(C) 20° (D) 15°
(1)) The area swept by the minute hand in 20 minutes is:
(A) 82.046 cm? (B) 90.76 cm?
(C) 104.76 cm? (D) 185 cm?

T o T B il bl ST I+ faF UX SUBR 3 & U Ush qar "el Wlial|
39 TSI %l fie Td "uer &1 g3 e 10 T Td 7 S el € | SURNeRT Gl b SIE
R ffaiad weal & S dfwa:

(i) = v & g5 g 30 fme & ffia @i

(A) 30° (B) 25°
(C) 20° (D) 15°
(i) e & g8 3 20 e & T e gon eewa &
(A) 82.046 =°f qHY (B) 90.76 it qHY
(C) 104.76 =77 9= (D) 185t ¥
25  Fill in the blanks : 2

(i) If the volume and curved surface area of a solid hemisphere are numerically
equal, then the diameter of the hemisphere is unit.

(i) The capacity of a cylindrical tank is 6160 cm3. If its base diameter is
28 cm, then the depth of the tank is

e @l & ghd it

(i) afs Tw 39 TN &b I i 5k YSSIT A6 B 3k A GHM &, AN SEB!
B3|K] IR

(i) Uh JAATBIR <h Bl 9T 6160 T G & | AT 3HP SMYUR &1 AE 28 THI
T, d@l ¥® B TS I 71

68/0S/2—211-A | 10 N [ Contd...



1 1
26 If sin (A—B)=5 and cos (A+B)=§, then:

(1) the value of 4 is:

(A) 45° (B) 30°

() 60° (D) 90°
(i) the value of B is:

(A) 60° (B) 45°

(C) 30° (D) 15°
Tfg sin (A—B)Z% 3T cos (A+B)=%, adq
(i) A AN :

(A) 45° (B) 30°

(C) o60° (D) 90°
(i) B 99 % :

(A) 60° (B) 45°

(©) 30° (D) 15°

27  Fill in the blanks :
(i) If the mode of the data 12, 16, 19, 16, x, 12, 16, 19, 12 is 16, then the value

of x is

(ii)) The median of a raw data is 24. If each item is increased by 2, then the

new median is
fa @l & gfid @i
() afs arfewst 12, 16, 19, 16, x, 12, 16, 19, 12 %1 §ga® 16 &, @ x & AW
gl
(i) TUIT 3Nihe! dT HIfedh 24 T IS ATl B Tdd G&AT Bl 2 F e o
L i O 153 gl
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28 Anjana and her mother Kavita went for a picnic. After having morning breakfast, 5
Anjana insisted to travel in a motorboat. The speed of motorboat was 18 km/hour in
still water. Anjana, being a mathematics student wanted to know the speed of current.
So, she noted the time for upstream and downstream journeys. She found that for
covering the distance of 24 km, the boat took 1 hour more for upstream than

downstream. On the basis of above information, answer the following questions :

(1) Let the speed of steam be x km/hour, then speed of the motorboat upstream

will be:
(A) (18 +x) km/hr (B) (18 —x) km/hr
(C©) (x —18) km/hr (D) 18 x km/hr

(i1) Quadratic equation representing given conditions is:
(A) x2+48x—324=0 (B) x2—-48x-324=0
(C) x2-48x +324=0 (D) x2+48x +324=0
(iii)) Speed of the stream is:
(A) 8 km/hr (B) 6 km/hr
(C) 4 km/hr (D) 9 km/hr
(iv) Time taken by the motorboat going downstream is:
(A) 60 minutes (B) 90 minutes

(C) 100 minutes (D) 120 minutes

(v) Relation between speed, distance and time is :

(A) distance = speed + time (B) distance = speed — time

(C) distance = speed x time (D) distance = speed + time
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3ISTAT SR SHa! AT wiar fuebfe X T | UIa:wTel= A19d & 99and S o HRede
¥ g o fog @1 oid o § HexEe B wfa 18 feaner ufa ger Ot it @
et 9 & BICoT, ST UMl & 98 @l TG ST aredl oY) 39T 39 9l &
eE @ fun we faudia feon o @ aren gug e fhan) Sew g {6 24 feeieT
Bl g Dl T % e @l faulid faen # 97 @ H, Ul % 98 @ faen § @
I T 9, 1 °uT 3N THT AT 8 | SURGd STFI & Y X MefaRad woHt
% AL ST
() ¥ AT 9l & T8 @ T x e ufa guer &, o ae & g'1a & faudia

fgom & Aexde & i g

(A) (18 +x) fepeirte wfer woer

(B) (18 —x) foparex wfg =ver

(C) (x —18) ferardiex wfd =ver

(D) 18 x e i "veT

(i) Teu gu wfaedl @ FEfta s amn fgaa aHie &

(A) x2+48x—324=0 (B) x2—-48x-324=0
(C) x2—48x+324=0 (D) x2+48x +324=0
(iii) T & sEE @ T (eemex wfd =ver #) &
A) 8 B) 6
©) 4 D) 9
(iv) 9l & S8E @ & § oM uX HieXEe g e T vy g
(A) 60 fire (B) 90 firre
(C) 100 fe (D) 120 e
(v) W, g ok o & d= wdy &
(A) T =T + g9 (B) Tl =i — @Hyg
(©) T =i < T (D) h="7ia + @
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SECTION - B

Hgos — Y
1 5 1
29 If a+—=2, find the value of a +—- 2
a a

1 1
iy a+—=2, a3+—3 B 9 T BT
a a

OR / 3t
Factorise, 3ab—243ab>.
3a°b—243ab> % TUMEE BT
30 A reduction of 10% in the price of tea enables a dealer to purchase 25 kg 2

more tea for ¥ 20,000. Find the original and reduced price per kg of tea.
I % G H 10% B HHT 8 ¥ Th S 7 X 20,000 F 25 fopar stfees amd @liar|
T bl Gl feel ardfas T BT §IAT qed T Dl |

OR / 3@t

A machine listed at ¥ 9,500 is available for ¥ 7,600. Find the percent rate of
discount offered.

% 9,500 siferd qea @1 AfA % 7,600 ¥ fra @1 31 fow o1 w® 2 @1 wfasd X |
BT |

31 A camera is sold for ¥ 5,000 as cash down payment and I 21,000 after 2
3 months. If the rate of interest charged is 20% per annum, find the cash price
of the camera.

T HAT R 5,000 % LA YA qur 3 |@re qgad < 21,000 @i R aX = S e
31 Al MU T = B g 20% AME 8, 1 BHX BT T6S od 3 DI |
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32 On 1-1-2021 the population of a village was 20,000. It increased by 10% 2
during first year but decreased by 10% in the second year. Find the population
of the village on 31-12-2022.

1-1-2021 ! e Tig &7 e 20,000 6| o a6 7 T8 10% &I T § Fol 98
T T & 10% @ 3T & 92 T 31-12-2022 & 3H TG B TG T B

OR / 3t¥an

A retailer buys books from a wholesaler at the rate of ¥ 300 per book and
marked them at ¥ 400 each. He allowed some discount and earns a profit of

20% on the cost price. Find the percentage discount given to the customers.

% ekl fashal Ua i fashar & % 300 UG & & WG ¥ JEah @R & S
T gah X T 400 1 qed SHfhd HAT & | 98 31 JEihl Bl g% I d9H Hd I
9T 20% W Ad BT ¢ AT Bl €T W areT 987 WG9 3d bIeg |

33 PA and PB are two tangents, to a circle with centre O, drawn from an 2

external point P such that P4 = 14 cm. CD is another tangent to the circle at
point E intersecting PA and PB at C and D respectively. Find the perimeter of

APCD.

&% 95 O & 39 & areX Rud fag P 9 909 WX &1 @sl @] P4 T PB 39 K
Gt T ¥ 6 PA = 1430 99 W s o= wet Y@ CD, fog £ X @i T8 %
St PA @1 PB @1 89T C AT D T 9iqele ®idl &1 A PCD &1 GIETT Sd Bifg |

34 ABC is an isosceles triangle with 4B = AC and XAY is a tangent to the 2
circumcircle of A ABC. Show that XY || BC.

ABC us wHfgatg e ¥ fred AB = AC a1 XAY, Brqs ABC % uftga w @l
¢ | fag @il 6 XY || BC
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35 Find the co-ordinates of a point dividing the line segment joining the 2
points 4 (-1, 4) and (1, 3) internally in the ratio 2 : 3.
34 fag & frdsties stra difiw S fargatt 4 (<1, 4) q@an (1, 3) & fram o TEmes
B 2:3 % o< U A oo wYar 2|

OR / 3ty
Find the centroid of the triangle whose vertices are 4 (-2, 4), B (7, —=3) and
C4,)5).
39 B & bsa & Faeie oa sy fas oY fag 4 (-2, 4), B(7, -3) @
C (4, 5) %
36 Find the median of the following data: 2

frfaiad stids! &1 AIfed S Hig:

x; | 5|10 [15]25(30

l

AN EEE

37 If the mean of the following data is 15, find the value of p : 2
afy fr=faRaa eriswel @& g 15 &, @ p &1 919 3d BifT

x. | 5|10 [15]20 |25

l

filelp]6]10]s

38 Solve the following system of linear equations graphically : 3
frrfateaa Yas gt o™ & sE™ iy § &d Sy ¢
x+y=Tx-y=1

39 A sum of ¥ 700 is to be used to give seven cash prizes to students of a 3
school for their overall academic performances. If each prize is ¥ 20 less than

its proceeding prize, find the value of each of the prizes.

% 700 %1 UGN B T UH @ & 9ia foentiat @ 5w Jafrs waeH & fag
EHR T 9 €1 3fe Ydeh JL@pi 30 ¥ U8 ot g 9 % 20 %9 8, df Ydh
QEHR Bl Hed T hifeTd |
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41

42
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Prove that the tangents drawn from an external point to a circle are of
equal length.

o @ifvg o5 fopelt amer fog @ 990 W ©idl 8 @l Yt @1 dEsat @9 g 2 |

The pillars of a building are cylindrical in shape. If each pillar has a

circular base of diameter 40 cm and height 10 m, then how much concrete

mixture would be required to build 14 such pillars?

Th a9 % WH DI T JaATBR ¢ | A TAd & 6 JaThiX STTER &1 | 40 §61

3R =g 10 WX &, O U9 14 @Y 99 & g fepa=n w4 a1 frgror anfeg ?
OR / 3@t

A village having a population of 4,000 requires 150 litres of water per head

per day. It has a tank having internal dimensions 20 m x 15 m x 6 m. For how

many days, the water of the tank will be sufficient for the village.

[Use 1 m3 = 1000 litre]

us e, frEm sEEEn 4,000 €, 7 wiafe ufaq s 150 fex am @ srasasnan

2139 g ¥ Up o & e sriafie ™ 20 Wiet x 15 Wit x 6 4T ¥ 139 @

1 U i1 % T fopae fem & forg warey givm 2 [SwieT &g 1 89 HieX = 1000 feex]

The king, queen and jack of club are removed from a pack of 52 playing
cards. One card is drawn at random from the remaining well shuffled cards.
Find the probability of getting :

(i) a black card or an ace.

(i1)) neither a heart nor a king.

T WA B 52 Tl A § TSt & akeme, I SR qam @l Menra foen sar &1 9
Tl Bl ST T8 hedhl U Ul Agsdl Ml STl & | FefaRad &l I & al
IR S el

(i) T e T AT T 3R

(i) ¥ dr 99 @1 9T SfX A & S1EsTE |

OR / 31¥an

Three coins are tossed, simultaneously. Find the probability of getting :
(1) at least two heads
(1)) at most two tails

A foeenl &1 T Ty IBTAT WA & | EfaRad B Ut e B WiRiedT S difTa:
(i) »9 ¥ &9 & faq
(i) erfeman a U2



43 Construct a triangle with sides 5 cm, 6 cm and 7 cm. Construct another triangle 5

2
similar to it whose sides are 3 of the corresponding sides of the first triangle.

S5EAL 6 TH qAT 7 WH SIS BT Uk HAYS IARY| 3HH GHEH UH 3 A9

OR / a1yt

Construct a triangle ABC in which AB + BC + C4 = 10 cm, B =60° and
ZC=30°.
wh e ABC &1 & st f@d AB + BC + CA = 1089, £B=60° g
ZC=30°.

44 From the top of a building 60 m high, the angles of depression of the top 5
and bottom of a tower are observed to be 45° and 60° respectively. Find the
height of the tower and its distance from the building.

60 HeX $d TH "I & T fog &, T R & ofid wd e fogaett & srawme i
HANT: 450 FaAT 60° ¥ | HHAR &I ST TH HAT Y 3EDI QU G BT

OR / 31¥an

Two men on either side of a cliff 80 m high observe the angles of elevation
of the top of the cliff to be 30° and 60° respectively. Find the distance between
the two men, if they are in straight line with the base of the cliff.

3 feRd T 80 WX FT T & IHI 3R TS FHY, TIM b @Y F TG BT
HHST: 30° T 60° U ¥ | <M Al & & @ g Id B, A 98 I g
% MR fog ° % @ H |
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This Question Paper consists of 44 questions and 18 printed pages + Graph Sheet.
39 9T 9 44 we Jen 18 gfid g + U ofie R

Roll No. Code No. 68/0S/2
set /% - | B
MATHEMATICS

(o)
@11)

Day and Date of Examination

(adren @1 oo 7 i)

Signature of Invigilators 1.

(Friverani & Twnen)

General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type questions, you have to choose any one of the four alternatives given in the
question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to
you.

All the questions including objective-type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper Code No. 68/0S/2, Set—|B | on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.

68/0S/2—211-B | 1 N [ Contd...



A ST

1

2

el 9sT-UF % UEd U8 UX STUAT ShAIE oAy for |

FUAT YIS Bl Sid o {6 YT b HA IS qUT YA bl a1 & WA & A qum
U3 % G99 HUI BU &1 A 91 DI G W B o B YT s €9 H |

TS FeAt & Ul AR fawedt (A), (B), (C) Tam (D) ¥ € iE Uk SAX AT & e &

T SR-gRa ¥ o gE wux e |

JEIFTSE Ul & Tg—|q1e q Al & A (eiia oy & Wi & 37 € | awgire vt

% o o © 9wy 7@ fear smom)

ST ¥ TEaH-Tus a9 styan fidse Wl & Sfdiea wel Wi oTwaie foaay ¥

qeedt Bl AT SETEAT WA

UeAus ¥ fopdl l Y & GoE sfgan giger o Rafq § SRS srgare & A=y B

3UHT FTX-YRAHT T 79 &1 Bis . 68/0S/2, -

B

ford |

(@) WU had /IS ® 31 6T oft, afy omw o) @ T & v el we won ®

I T T § ¢

Ui, ARTYY, STEHAT, TUTAl, B, T&hd i o=t

HudT IR-YRal H oy U gt ¥ fae 6 oy few W F I fow W@

(@) afe emg =Y e iUl & stfafie fpal oy s & SeR foed &, df el &l wHem
¥ BN arr Jfedt | Tt s e e Saehl g |

General Instruction / ™= 391 :

1. Answers of all questions are to be given in the Answer-Book given to you.

Ul 99T % AL SATYR! < T ITX GRaawT 7 & foed |

2. 15 minutes time has been allotted to read this Question Paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 Y91 I Ue o 17T 15 feie o1 a9 feam man | oot a1 faaeor aue & 02.15 51 fomar
ST 1 02.15 1 & 02.30 St T BT bad 99797 & g 3i 36 1Aty & e J Sa—gRaa!

X B3 3 el feE )

68/0S/2—211-B | 2
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MATHEMATICS

T
@11)

Time : 2% Hours] [Maximum Marks : 85

21 ww] [quie : 85

qHg

Note :

fodar :

(i)

(ii)
(iii)
(iv)

v)

(i)

(ii)
(iii)
(iv)

v)

This question paper consists of 44 questions in all.

All questions are compulsory.

Marks are given against each question.

Section A consist of

(a) Q. No. 1 to 17 - Multiple Choice type questions (MCQs) carrying
1 mark each. Select and write the most appropriate option out of
the four options given in each of these questions.

(b) Q. No. 18 to 28 - Objective type questions. Q. No. 18 to 27 carry
2 marks each (with 2 sub-parts of 1 mark each) and Q. No. 28
carries 5 marks (with 5§ sub-parts of 1 mark each). Attempt these
questions as per the instructions given for each of the questions
18 to 28.

Section B consist of

(a) Q.No.291to037- Very Short Answer type questions carrying 2 marks
each.

(b) Q.No. 38 to 42 - Short Answer type questions carrying 3 marks
each.

(c) Q.No. 43 and 44 - Long Answer type questions carrying 5 marks
each.

T U H A 44 YT 2|

il ueT SifEr |

TA% U % 9 o i ¥

g - & § e ¥

(a) UT-EE 1 ¥ 17 T& Tglashedd YbR & 99T ¢ ok Jds 1 3%
B %1 T 9 UUE 9T H RU T ar fgeedl ¥ 999 SugE (e
B I B @ B

(b) UsT-dEr 18 ¥ 28 T& IR YA & Ued & | yed—den 18 ¥ 27
qHh Th U9 2 b & & (YA 1 3ih & 2 IT-AWI & 9q1Y) oix
TG 28, 5 3ikl w1 T (IAB 1 3k b 5 SU-HFN & G1Y) | TIh
usT 18 @ 28 & fuu feuw g frdetf & oo wedi & wOx fa|

gE - @ § i ¥

(a) U@ 29 ¥ 37 T @Y SAUT YH b A—aAA 3l b YT 2 |

(b) U@ 38 § 42 I @Y AU YA &b AF—dH b b U9 2 |

(c) WG 43 TG 44 qd ST YK &b qra—ura 3l b 99T |

68/0S/2—211-B | 3 N [ Contd...



SECTION - A

g — &
1 Which of the following is not a measure of central tendency of a data? 1
(A) Mode (B) Median
(C) Mean (D) Range
frrfafad @ 9§ @ o aidbs & bsig YIra w1 WY el § 7
(A) TEAD (B) =g
(C) wrem (D) uRER
2 The median of the data 10, 12, 14, 16, 18, 20 is : 1
afrbet 10, 12, 14, 16, 18, 20 %1 ATE® &
(A) 12 (B) 14
(C) 15 (D) 16
3  If cos (24 + 54°) =sin A4, where (24 + 54°) is an acute angle, then the 1

value of 4 is:
iy cos (24 + 54°) =sin 4, W&l (24 + 54°) UH D T, A 4 BT A &

(A) 12° (B) 36°
(C) 48° (D) 72°
4  Which of the following is not the probability of an event? 1
frfafiad & @ @9 et gear & wiledar 7@ T 7
2
(A) 3 B) 0.5
C) 12% (D) 0.3
5 If 3tan 4=4, then the value of cosA4 is : 1

gfe 3tand=4, A cosd & HA &:

W | W

3
A 3 (B)

AW

4
© 3 (D)

68/0S/2—211-B | 4 N [ Contd...



10

Two cubes of edge 12 cm each are joined together. The surface area (in cm?) 1
of the new cuboid is:

3 o, R e A e 12 A, one § e W ¥ | S B s

(@@ o W) @

(A) 1440 (B) 144
(C) 140 (D) 72
The difference between the circumference and radius of a circle is 37 cm. 1

The area (in m?) of the circle is:

TH I @b ufy ud e @ o 37 9 31 39 g9 @ aFwd (@ a ) #

(A) 111 (B) 154
(C) 184 (D) 259
Ina A POR, right angled at O, PO=3 cm and PR=6 cm. ZQPR is: 1

us e POR, f® £0=90°, § PO=3 @@ wd PR=6 qHIl LOPR &
M &

(A) 0° (B) 30°
(C) 45¢ (D) 60°
The curved surface area of a cylinder of height 14 cm is 88 cm2. The diameter 1

(in cm) of its circular base is :

14 T ST % U I D1 b JSOIT & 88 AT FHT €| T A % JAB SER
& (S H) '

(A) 5 B) 4

© 3 D) 2

The perpendicular distance (in units) of the point P (3, —4) from the x-axis is: 1
fag P (3, 4) @ x—1a7 ¥ w9ad g0 (36 ®) ? -
(A) —4 B) 3
€ 4 D) 5

68/0S/2—211-B | S N [ Contd...



11  Factors of 4x% — 9y are : 1

4x2-9)2 % UGS g

(A)  (4x+9y) (4x-9y) (B) (2x+3y) (2x-3y)
©) (2x-3y) (2x-3y) D) (2x+3y) (2x+3y)
12 A point P is 5 cm away from the centre of a circle and the length of the tangent 1

drawn from P to the circle is 4 cm. Radius (in cm) of the circle is :

THEJA D B A S AN B U W 45 P Rya ¥ oiR fog P & 9 WX &
T Wl YEn B WeE 4 AW ¥ g9 @ Bowr @ H) ¥

(A) 6 B) 5
© 4 (D) 3
13 Factors of 1+x+xy+x2y are : 1

1+x+xy+x2y % TOHES ¢ :

A (1+x) (1+x) B) (1+x) (x+)
© (x+y) (1+x) D) (1+x) (1+)
14 Simple interest on ¥ 2,500 for 2 years 6 months at 6% per annum is : 1

T 2,500 &1 6% d1ies X A 2 99 6 HEH T Gl & & ¢

(A) T 275 (B) T 350
(C) T 375 D) T 750
15 The LCM of smallest composite number and the smallest prime number is: 1

Y Bl 999 &A1 U 999 B YN &1 & 9.9, &
A) 0 B) 1
(C) 2 (D) 4

68/0S/2—211-B | 6 N [ Contd...



16 If the number of illiterate persons in a country decreased from 150 lakh to 1

100 lakh in 10 years. The percentage rate of decrease is :

gy 10 auf & T 9 A fyfaa @ @ d@eEr 150 @@ € gea? 100 @ g T,
ar erfdtfera s ged &1 gfaed 3T ®

(A) 30% (B) 50%
331"/ D 231‘7
(€ 333% (D) 23-%
17  Angle subtended by a semicircle is : 1
(A) acute angle (B) obtuse angle
(C) right angle (D) straight angle
TH Mg F S GO BT BT §
(A) =TT I (B) e ®iwr
(C) =R (D) &A HIw
: 1 1
18 If sin(4-B)= 5 and cos (4+B)= > then: 2

(i) the value of 4 is:

(A) 45° (B) 30°

(©) 60° (D) 90°
(i) the value of B is:

(A) 60° (B) 45°

(C) 30° (D) 15°
gfe sin (A—B)=% 3 cos (A+B):%, LE]
(i) A®AEET :

(A) 45° (B) 30°

(C) 60° (D) 90°
(i) Bl A9 & :

(A) 60° (B) 45°

(C) 30° (D) 15°

68/0S/2—211-B | 7 N [ Contd...



19 Fill in the blanks : 2

(1) If the mode of the data 12, 16, 19, 16, x, 12, 16, 19, 12 is 16, then the value

of x is

(ii)) The median of a raw data is 24. If each item is increased by 2, then the

new median is

o el @ qid @i -
(i) afe sfiwst 12, 16, 19, 16, x, 12, 16, 19, 12 &1 §ga® 16 &, @ x & AH
gl
(i) TAYT 3Tihel ®T AIfedsd 24 &1 IS SNhS! Bl TAH & &l 2 § o7 faa
SQ, @ 74w gl
20 Fill in the blanks : 2

(i) Two chords AB and CD of a circle intersect each other at a point P inside the
circle. If PA=4 cm, PB=x+3, PD=3 cm and PC =x + 5, then the value of

x is

(ii) 4B is a diameter and XBY is a tangent to the circle with centre O. C is a

point on the circle. If AC = BC, then ZCBY =
fraa sl @ gfi it

(i) T g9 &l & Sied 4B 91 CD T g o 3= T (95 P IR Wierese &Ll
gl afe PA=43M, PB=x+3, PD=3TH X PC=x+5, @ x &I dH
T

(i) U gq, EH = 5 O 2, &1 AW 4B I o @l @ XBY 81 g W
s fog C %13k AC=BC, @ LCBY =

68/0S/2—211-B | 8 N [ Contd...



21  Sonal bought a wall clock to gift her friend Anjali on her birthday. The minute 2

hand and hour hand of the clock are 10 cm and 7 cm respectively. On the basis of
above information answer the following questions :

(i) The angle described by the hour hand in 30 minutes is:

(A) 30° (B) 25°
(C) 20° (D) 15°
(ii) The area swept by the minute hand in 20 minutes is:
(A) 82.046 cm? (B) 90.76 cm?
(C) 104.76 cm? (D) 185 cm?

G o T B STl bl ST I o TX SUER 3 &% U U S "El wliar|
SH g1 B fire Td =St ol g HAeT: 10 Y Ud 7 S e ¥ | SuRied gaAT % SMen
g ffaRad weat & S i

(i) =ve @ g5 g 30 fme # ffia @i

(A) 300 (B) 25°
©) 20° (D) 15°
(i) free @& g€ g 20 fie & o fRar gem dwa @
(A) 82.046 aif 9= (B) 90.76 it q=Y
(C) 104.76 7t 9= (D) 185t ¥
22 Fill in the blanks : 2

(i) A cone and a cylinder are of equal base radius. If the height of the
cone is 3 times the height of the cylinder, then the ratio of the
volume of the cone to the volume of the cylinder is

(ii) Curved surface area of a cylinder is 1320 cm? and its base radius is
10.5 cm. The height of the cylinder is

o et @1 gid ik -

(i) TS 9P oI TH I Sl MR wn 9F 1 AT 90F B Has 9o Bl SHag
H A A E, A OF b I B JAT & AT F ST .

(i) T o BT 9h YT AThe 1320 ot I ¥ &fix wEenr ame B 10.5 A
T A9 B S 2|

68/0S/2—211-B | 9 N [ Contd...



23  Match Column-I statement with the correct option of Column-II :

Column-I Column-II

(i) If P (-1, 1) is the mid point of (A) 12
the line segment joining 4 (-3, b)
and B (1, b + 4), then the value
of b is:

(i1)) The perimeter of a triangle with B) -1
vertices (0, 4), (0, 0) and (3, 0) is:

€ 2
WY1 & HIT & W11 & FEl fape o fraw sifse -
-1 wWH-11
(i) afs fagelt 4 (-3, b) T (A) 12

B(1,b+4) & (@Es & 7 a3
P(1,1)% d b A9 &:
(i) U var fryw, fae O fag (B) -1
(0, 4), (0, 0) TF (3, 0) &, @&
gy &:
€) 2

24  Fill in the blanks :

(i) If TP and TQ are the two tangents to a circle with centre O such that

ZPOQ =110°, then LPTQ =

(il)) ABCD is a cyclic quadrilateral in which 4C and BD are diagonals.
If /DBC =55° and £ZBAC =45°, then /BCD is

Pt TY 9 IR AT -

() o= fog 0% g9 &1 & wWet Y@ 7P wd 70 36 WK ¥ 6 LPOO=110°,

@ LPTO =

(i) AC qam BD Wa @b agqa & faavt ¥1 afy £LDBC =55° g
/BAC =45°, @ /BCD Tl

68/0S/2—211-B | 10 MO A
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25  Write True for correct statement and False for incorrect statement : 2

(i) A, P and Q are three points on a circle with centre O. If LPAQ =35°, then
ZOPQ =50°.

(i1)) PQORS is a cyclic quadrilateral and side PS is extended to the point A. If
ZPQR =80°, then ZASR is 100°.

TEl HUT & [T T 3R Tad HYF & U 9T faiay :

() U% gq, iawm &= 65 0 &, W AN &g 4, Paan Q €13l £LPAQ=35°,
ar LOPQ=50°.

(i) U Toia TGS PORS & ST PS & 4 A T Soran 71 €1 afs LPOR =80°,
A LASR = 100°.

26  Write True for correct statement and False for incorrect statement : 2
(i) 15% term of the A.P. —10, -5, 0, 5, .... is 65.
(i1)) Sum of first 20 odd natural numbers is 400.
el BYA & 0 9 o TTad %94 & [0y o fafay -
(i) FHiaT & —10, -5, 0, 5, .... & 1597 95 65 Tl

(i) wem 20 fawA grpa demstt &1 ARt 400 F1

27 Fill in the blanks : 2
(i) Factors of 252 — 16x2 are (5y + 4x) and

- . x+1 q x—1
(i1) € sum o 2 5 an 2 5
e st @ gid iy

() 25)% — 16x% & ToAES (5y + 4x) T gl

is

x+1 ox—1
x2 -2 A x2 -2

(ii) wMAT B

68/0S/2—211-B | 11 N [ Contd...



28 Anjana and her mother Kavita went for a picnic. After having morning breakfast, 5

Anjana insisted to travel in a motorboat. The speed of motorboat was 18 km/hour in
still water. Anjana, being a mathematics student wanted to know the speed of current.
So, she noted the time for upstream and downstream journeys. She found that for
covering the distance of 24 km, the boat took 1 hour more for upstream than

downstream. On the basis of above information, answer the following questions :

(1) Let the speed of steam be x km/hour, then speed of the motorboat upstream

will be:
(A) (18 +x) km/hr (B) (18 —x) km/hr
(C) (x—18) km/hr (D) 18 x km/hr

(1)) Quadratic equation representing given conditions is:
(A) x2+48x-324=0 (B) x2—-48x -324=0
(C) x2-48x +324=0 (D) x2+48x +324=0
(iii)) Speed of the stream is:
(A) 8 km/hr (B) 6 km/hr
(©) 4 km/hr (D) 9 km/hr
(iv) Time taken by the motorboat going downstream is:
(A) 60 minutes (B) 90 minutes
(C) 100 minutes (D) 120 minutes
(v) Relation between speed, distance and time is :

(A) distance = speed + time (B) distance = speed — time

(C) distance = speed x time (D) distance = speed + time

68/0S/2—211-B | 12 N [ Contd...



3ISTAT SR SHa! AT wiar fuebfe X T | UIa:wTel= A19d & 99and S o HRede
¥ g o fog @1 oid o § HexEe B wfa 18 feaner ufa ger Ot it @
et 9 & BICoT, ST UMl & 98 @l TG ST aredl oY) 39T 39 9l &
eE @ fun we faudia feon o @ aren gug e fhan) Sew g {6 24 feeieT
Bl g Dl T % e @l faulid faen # 97 @ H, Ul % 98 @ faen § @
I T 9, 1 °uT 3N THT AT 8 | SURGd STFI & Y X MefaRad woHt
% AL ST
() ¥ AT 9l & T8 @ T x e ufa guer &, o ae & g'1a & faudia

fgom & Aexde & i g

(A) (18 +x) fepeirte wfer woer

(B) (18 —x) foparex wfg =ver

(C) (x —18) ferardiex wfd =ver

(D) 18 x e i "veT

(i) Teu gu wfaedl @ FEfta s amn fgaa aHie &

(A) x2+48x—324=0 (B) x2—-48x-324=0
(C) x2—48x+324=0 (D) x2+48x +324=0
(iii) T & sEE @ T (eemex wfd =ver #) &
A) 8 B) 6
©) 4 D) 9
(iv) 9l & S8E @ & § oM uX HieXEe g e T vy g
(A) 60 fire (B) 90 firre
(C) 100 fe (D) 120 e
(v) W, g ok o & d= wdy &
(A) T =T + g9 (B) Tl =i — @Hyg
(©) T =i < T (D) h="7ia + @

68/0S/2—211-B | 13 N [ Contd...



SECTION - B
g — 9

29 If the mean of the following data is 15, find the value of p : 2
gfy frefefad sriwel & 7reg 15 %, @ p &1 79 30 SN ¢

X;

5

10

15

20

25

Ji

p

6

10

5

30 ABC is an isosceles triangle with AB = AC and XAY is a tangent to the 2
circumcircle of A 4BC. Show that XY || BC.

ABC ts gafgarg et @ R AB = AC qan XAY, Bist ABC % wftga X @t

@ ¥ fag #ife 8 XY || BC

31 Find the co-ordinates of a point dividing the line segment joining the 2
points A(2, 3) and B(-1, 7) internally in the ratio 1 : 2.
s U fag & st sma difwe o fagett 4(2, 3) d9ur B(-1, 7) & e A
W@rES H 1 :2 & o U ¥ fawifaa wear 31

OR / a1yt

Find the radius of the circle having centre at O(—2, 3) and passing through the
point A(-7, 5).
% g, e & o5 O(-2, 3) @ qo1 95 4(-7, 5) & Tt o1 @, @l Bean sa
HIT|

32 Find the median of the following data: 2

frfaRaa stics! &1 Afas S Hifeg:

X;

5

10

15

25

30

Ji

6

7

3

5

33 A camera is sold for ¥ 5,000 as cash down payment and I 21,000 after 2
3 months. If the rate of interest charged is 20% per annum, find the cash price of
the camera.

T A % 5,000 % JLG YA a9r 3 9@ gearq < 21,000 @i 6w 9X = S @l
g1 Afe fQ 7T = @ 3 20% A 7, A B B AbS qod T DI |

68/0S/2—211-B |
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34

35

36

On 1-1-2021 the population of a village was 20,000. It increased by 10% 2
during first year but decreased by 10% in the second year. Find the population of
the village on 31-12-2022.

1-1-2021 &Y e Tia &7 sEEn 20,000 &) goF a6 7 78 10% &f X § Fol 93
TE TS F 10% B X F g T 31-12-2022 &I $H TG & TGN T BT

OR / 31y
A retailer buys books from a wholesaler at the rate of ¥ 300 per book and

marked them at ¥ 400 each. He allowed some discount and earns a profit of
20% on the cost price. Find the percentage discount given to the customers.

Th el fahdl Uk Ui feshar & T 300 T e & WIa ¥ Y&ih @G § &
T&® G 9T < 400 BT 9o 3ifhd HIAT & | T8 37 JWIBI Dl qF U TG hd o
T 20% @9 AR HIAT &1 TEd B U S aren Sg71 wfasd S| S|

PA and PB are two tangents, to a circle with centre O, drawn from an 2

external point P such that P4 = 14 cm. CD is another tangent to the circle at
point E intersecting PA and PB at C and D respectively. Find the perimeter of

APCD.

&% f4g O & 39 & areY Rud fag P 9 99 WX &1 @st @] P4 q&1 PB 39 a1
il 15 ¥ 6 PA = 145 g9 W & o= Wef @ CD, g E X diel T ¥
S PA T4 PB &Y %sT: C d9T D WX URiede &l &1 A PCD 1 9w 31d Siferd |

3

If a+l=2, find the value of a3+L. 2
a a

1 1
iy a+—=2, a3+—3 BT TM FId DI |
a a

OR / 31¥an

Factorise, 3a°bh—243ab>.

3a°b-243ab> % TUMEE BT
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37 A reduction of 10% in the price of tea enables a dealer to purchase 25 kg 2
more tea for ¥ 20,000. Find the original and reduced price per kg of tea.

T b T | 10% B A & T T S | 20,000 # 25 fopar s ama wliar|
T B Ui fpe ardfas Ui geT gen ged Sid B |

OR / a1yt

A machine listed at ¥ 9,500 is available for ¥ 7,600. Find the percent rate of
discount offered.

% 9,500 3ifpad e @f Al % 7,600 & fra @1 &1 ey 511 W 9% @l fde@ X 9
6lgli\)FIQI

38 Prove that the tangents drawn from an external point to a circle are of 3
equal length.

fog @ifsg fop fopelt amer fog @ 990 W @il 8 @l Yt @1 dEEat @9 gk 2

39 The king and queen of diamonds are removed from a pack of 52 playing 3
cards. One card in drawn at random from the remaining well shuffled cards.
Find the probability of getting :

(i) a red card or a king.

(i1) neither a heart nor an ace.
AT WA & 52 TGl § F 3¢ BT IG9ME ST I Bl bt foran S €1 9w ut B
B! TXE Hhedhl Th Ul AT {erer Siran & | FrfaRad &1 urad &3 &1 iiehar
A DT
() TF @ T AT Th IEIE
(ii) = @ 9 @1 9T SR AT & gn

OR / 3ty

Three coins are tossed simultaneously. Find the probability of getting :

(i) at most two heads

(ii) at least two tails.

A Raapl 1 Te T1Y SBIET Sl § | Frefaiad & 9 e ol wiiieear $d i
(i) orfueaw < fad

(i) &9 & &9 & 9
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40 Solve the following system of linear equations graphically : 3
frrfarea Yas Tt el & ™ iy ¥ &4 Sy ¢

x+y=T,x-y=1

41 A sum of ¥ 700 is to be used to give seven cash prizes to students of a 3
school for their overall academic performances. If each prize is ¥ 20 less than
its proceeding prize, find the value of each of the prizes.

% 700 %1 YA HIA T UH WA & €A foendal B 5% Jars weeE & fag
EH T 99 €1 afE ydeh gL e § U8 o JU@h 9 % 20 %9 8, df T
T&BI T Jed F0d iy |

th
42 The 1 part of the volume of a conical vessel of internal radius 5cm and 3

height 24 cm is full of water. The water is emptied into a cylindrical vessel

with internal radius 10 cm. Find the height of water in cylindrical vessel.

Ueh Sfeamh o, fSrae! aridfie B 5 a9 aur $ug 24 a9 8, &1 dH-drers
ST I § AT 3T 2 | 39 UM i, Ueh daIe S forgen! stfdiies =ear 10 9
T, ¥ @l fhar Sar 31 S 991 ¥ U Bl Sars Sd bt |

OR / a1yt

A rectangular sheet of metal 44 cm long and 20 cm broad is rolled along
length into a cylinder, so that the height of the cylinder is 20 cm. Find the

volume and curved surface area of the cylinder.

&g 1 T SMAdTeR e, fraent dars 44 T o 9erg 20 o9 &, O @a1g & ama
AR GAHY Tk So & &9 9 36 YbR aiafid fear s & 6 9a7 & Sag
20 §HT B | SO BT A M Ik TSI B S it |
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43 From the top of a tower 100 m high, the angle of depression of two cars on
the opposite sides of the tower are observed to be 60° and 45° respectively.

Find the distance between the cars. (Take \/5 =1.732)

100 HeX 9 ¥AR & oY fog @, 9 &7 o faemett & & & & S
B AT 60° T 45° 91T T &1 B & S B QU A BT |

(/3 =1.732 =)

OR / 3t

A ladder of length 4 m makes an angle of 30° with the level ground while
leaning against a window of a room. The foot of the ladder is kept fixed on
the same point of the level ground and it is made to lean against a window of
another room on its opposite side, making an angle of 60° with the level
ground. Find the distance between these rooms.

TH 4 HX A1 el B TG Th AL DI [gshl & Y @A Sl 5, A a8 Aferst
A % |1 30° BT BV SR & | WGl &1 U {65, & ad & sul g W Rex <@
ST & U Hier & fauda e  Rua w1 @ Ragent & @y @W W, 98 9 9@
% |1 60° BN BT S & | HA b S Bl G A DI

5

44 Construct a triangle with sides 5 cm, 6 cm and 7 cm. Construct another triangle 5

2
similar to it whose sides are - of the corresponding sides of the first triangle.

3
5L 6 T qAT 7 HH SIS BT Uk AU IAEC1 3Hh GHEH UHh 3 A4S

o e i, et e e B A el @ @

OR / 31yt

Construct a triangle ABC in which AB + BC + C4 = 10 cm, £B=60° and
ZC=300°.
s Bys ABC & @ #ifwe fad AB + BC + CA = 103, £B = 60° qun
ZC=30°.
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This Question Paper consists of 44 questions and 18 printed pages + Graph Sheet.
39 9T 9 44 we Jen 18 gfid g + U ofie R

Roll No. Code No. 68/0S/2
Set / ¥ — C
MATHEMATICS

(o)
@11)

Day and Date of Examination

(adren @1 oo 7 i)

Signature of Invigilators 1.

(Friverani & Twnen)

General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type questions, you have to choose any one of the four alternatives given in the
question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to
you.

All the questions including objective-type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper Code No. 68/0S/2, Set—|(C | on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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A ST

1

2

el 9sT-UF % UEd U8 UX STUAT ShAIE oAy for |

FUAT YIS Bl Sid o {6 YT b HA IS qUT YA bl a1 & WA & A qum
U3 % G99 HUI BU &1 A 91 DI G W B o B YT s €9 H |

TS FeAt & Ul AR fawedt (A), (B), (C) Tam (D) ¥ € iE Uk SAX AT & e &

T SR-gRa ¥ o gE wux e |

JEIFTSE Ul & Tg—|q1e q Al & A (eiia oy & Wi & 37 € | awgire vt

% o o © 9wy 7@ fear smom)

ST ¥ TEaH-Tus a9 styan fidse Wl & Sfdiea wel Wi oTwaie foaay ¥

qeedt Bl AT SETEAT WA

UeAus ¥ fopdl l Y & GoE sfgan giger o Rafq § SRS srgare & A=y B

3UHT FTX-YRAHT T 79 &1 Bis . 68/0S/2, -

C

ford |

(@) WU had /IS ® 31 6T oft, afy omw o) @ T & v el we won ®

I T T § ¢

Ui, ARTYY, STEHAT, TUTAl, B, T&hd i o=t

HudT IR-YRal H oy U gt ¥ fae 6 oy few W F I fow W@

(@) afe emg =Y e iUl & stfafie fpal oy s & SeR foed &, df el &l wHem
¥ BN arr Jfedt | Tt s e e Saehl g |

General Instruction / ™= 391 :

1. Answers of all questions are to be given in the Answer-Book given to you.

Ul 99T % AL SATYR! < T ITX GRaawT 7 & foed |

2. 15 minutes time has been allotted to read this Question Paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 Y91 I Ue o 17T 15 feie o1 a9 feam man | oot a1 faaeor aue & 02.15 51 fomar
ST 1 02.15 1 & 02.30 St T BT bad 99797 & g 3i 36 1Aty & e J Sa—gRaa!

X B3 3 el feE )
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MATHEMATICS

T
@11)

Time : 2% Hours] [Maximum Marks : 85

21 ww] [quie : 85

qHg

Note :

fodar :

(i)

(ii)
(iii)
(iv)

v)

(i)

(ii)
(iii)
(iv)

v)

This question paper consists of 44 questions in all.

All questions are compulsory.

Marks are given against each question.

Section A consist of

(a) Q. No. 1 to 17 - Multiple Choice type questions (MCQs) carrying
1 mark each. Select and write the most appropriate option out of
the four options given in each of these questions.

(b) Q. No. 18 to 28 - Objective type questions. Q. No. 18 to 27 carry
2 marks each (with 2 sub-parts of 1 mark each) and Q. No. 28
carries 5 marks (with 5§ sub-parts of 1 mark each). Attempt these
questions as per the instructions given for each of the questions
18 to 28.

Section B consist of

(a) Q.No.291to037- Very Short Answer type questions carrying 2 marks
each.

(b) Q.No. 38 to 42 - Short Answer type questions carrying 3 marks
each.

(c) Q.No. 43 and 44 - Long Answer type questions carrying 5 marks
each.

T U H A 44 YT 2|

il ueT SifEr |

TA% U % 9 o i ¥

g - & § e ¥

(a) UT-EE 1 ¥ 17 T& Tglashedd YbR & 99T ¢ ok Jds 1 3%
B %1 T 9 UUE 9T H RU T ar fgeedl ¥ 999 SugE (e
B I B @ B

(b) UsT-dEr 18 ¥ 28 T& IR YA & Ued & | yed—den 18 ¥ 27
qHh Th U9 2 b & & (YA 1 3ih & 2 IT-AWI & 9q1Y) oix
TG 28, 5 3ikl w1 T (IAB 1 3k b 5 SU-HFN & G1Y) | TIh
usT 18 @ 28 & fuu feuw g frdetf & oo wedi & wOx fa|

gE - @ § i ¥

(a) U@ 29 ¥ 37 T @Y SAUT YH b A—aAA 3l b YT 2 |

(b) U@ 38 § 42 I @Y AU YA &b AF—dH b b U9 2 |

(c) WG 43 TG 44 qd ST YK &b qra—ura 3l b 99T |
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SECTION - A
g — &

1 If 3 tan A =4, then the value of cos4 is: 1
gfg 3tand=4, d cosd & HE &

N B >
() 3 B) 3
C a4 D El
©) 3 ® ]
2 Which of the following, can be the probability of any event? 1
frfafad & & @ A el T2 o wiiehar & dadl & 7
(A) —0.04 (B) 1.004
o 18 o 8
©) 3 ™)
3 Which of the following is not a measure of central tendency of a data? 1
(A) Mode (B) Median
(C) Mean (D) Range
frrafariad & & & BT ofihs & b= Y &1 A9 el & 7
(A) TEAD (B) it
(C) W (D) uf@Ex
4 The median of the data 10, 12, 14, 16, 18, 20 is : 1
affeet 10, 12, 14, 16, 18, 20 &1 Aa® &:
(A) 12 (B) 14
© 15 (D) 16
5 Two cubes of edge 12 cm each are joined together. The surface area (in cm?) 1

of the new cuboid is:

1 o, T Uce @l e 12 9T, ofaE H T S €1 T EATH bl IS S
(& ) %

(A) 1440 (B) 144

(C) 140 (D) 72
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6 Ina A POR, right angled at O, PO=3 cm and PR=6 cm. ZQPR is: 1
s YA POR, T&H £0=90°, § PO=3 ¥H Ud PR=6 ¥HI LOPR &

a9 2
(A) 0° (B) 300
(C) 450 (D) 60°

7 If sin (4+36°)=cos A, where (4+36°) is an acute angle, then the value 1
of A4 is:

afe sin (4+36°)=cos A4, FET (A4+36°) TH AR 3, q 4 & A9 &

(A) 54° (B) 27°
(€ 21° (D) 18°

8 The curved surface area of a cylinder of height 14 cm is 88 cm?. The diameter 1

(in cm) of its circular base is :

14 1 ST % TH I BT I T EA 88 T WA & | I I b BT STER
H A (T H)

(A) 5 (B) 4
<€ 3 D)
9 Angle subtended by a semicircle is : 1
(A) acute angle (B) obtuse angle
(C) right angle (D) straight angle
TH g H ST GO B BT ©
(A) =T BT (B) eifueb T
(C) GHHI (D) | &I
10 A point P is 5 cm away from the centre of a circle and the length of the tangent 1

drawn from P to the circle is 4 cm. Radius (in cm) of the circle is :

THEJAH b G S AW B W W T g P Rud T ok fag P ¥ g w &
TS WY T B WS 4 9 R g B B (@ H) %

(A) 6 ®) 5

€ 4 D) 3
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11 The difference between the circumference and radius of a circle is 37 cm. 1

The area (in m?) of the circle is:

TH g B U T B @7 ek 37 T ¥ SH g9 b1 4 (SR I H) T

(A) 111 (B) 154
(C) 184 (D) 259
12 Factors of 4x2 — 92 are : 1
4x2 - 9y? % TUES ¥ :
(A) (4x+9y) (4x—9y) (B) (2x+3y) (2x-3y)
(©) (2x-3y) (2x-3y) (D) (2x+3y) (2x+3y)
13 If the number of illiterate persons in a country decreased from 150 lakh to 1

100 lakh in 10 years. The percentage rate of decrease is :

gy 10 auf & T 9 A fyfaa @ @ d@eEr 150 @@ € geah? 100 @ g T,
a1 arfyrfira S Ten @ wfded @ ®

(A) 30% (B) 50%
C 331"/ D 231‘7
(©) 37 D) 37
14 The HCF of the smallest composite number and the smallest odd prime 1
number is:
Y Bl AIoG € 8 999 Biel faud ety d @ @ 7.4, @
A) 1 B) 0
€ 2 D) 3
15 Simple interest on ¥ 2,500 for 2 years 6 months at 6% per annum is : 1
% 2,500 &I 6% AMYb X & 2 99 6 AW BT LRV AT ¢
(A) T 275 (B) T 350
(C) T 375 D) T 750
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16 Factors of 1+x+xy+x2y are :
1 +x+xy+x2y % [HES § :
(A) (1+x) (1+xy) (B) (1+x) (x+y)

©) (x+) (1+x) D) (1+x) (1+y)

17 Perpendicular distance (in units) of the point P(-3, —4) from the y-axis is :

fog P(-3, 4) & y-arr & wigad g (38 H) &
(A) -3 B) -4
C€) 3 (D) 5

18 Write True for correct statement and False for incorrect statement :
(i) 15 term of the A.P. -10, -5, 0, 5, .... is 65.

(i1)) Sum of first 20 odd natural numbers is 400.

e BuA & U 9 ofX Tad %99 & oy o fafay :
(i) FHER 9 10, -5, 0, 5, ... BT 154f 98 65 T

(i) wgT 20 faum urha wemstt &1 AT 400 F |

19 Write True for correct statement and False for incorrect statement :

(i) A, P and Q are three points on a circle with centre O. If £ZPAQ =35°, then
ZLOPQ =50°.

(il) POQORS is a cyclic quadrilateral and side PS is extended to the point 4. If
ZPQOR =80°, then ZASR is 100°.

TEl HUT & [T T 3R Tad HYF & U 30T gy :

(i) us gq, feer &= o5 0 3, W aF &35 4, Paan Q §1 3k £LP4Q=35°,
ar LOPQ=50°.

(i) TH THIA AGHST PORS &I Gl PS B {95 4 T Fo/T1 7101 51T LPOR = 80°,
ar ZASR = 100°.
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20  Sonal bought a wall clock to gift her friend Anjali on her birthday. The minute 2

hand and hour hand of the clock are 10 cm and 7 cm respectively. On the basis of
above information answer the following questions :

(i) The angle described by the hour hand in 30 minutes is:

(A) 30° (B) 25¢
(C) 20° (D) 15°
(1)) The area swept by the minute hand in 20 minutes is:
(A) 82.046 cm? (B) 90.76 cm?
(C) 104.76 cm? (D) 185 cm?

e o T B il bl ST S o UX SUBR 3 & [ Ush Sar "El Wlial|
39 TSI %l fie Td "ver &1 g e 10 T T 7 S el € | SURNeRd Gl b SR
X ffaiaa weat & Iax dfwa:

(i) =ve & g5 g 30 fme # ffia @i

(A) 30° (B) 25°
(C) 20° (D) 15°
(i) e @& g8 g 20 fme & qg foman gom emmw ®:
(A) 82.046 it o (B) 90.76 Tt T
(C) 104.76 it q= (D) 185 AW
21 Fill in the blanks : 2

(i) Two chords AB and CD of a circle intersect each other at a point P inside the
circle. If PA=4 cm, PB=x+3, PD=3 cm and PC =x + 5, then the value of
X is

(1)) AB is a diameter and XBY is a tangent to the circle with centre O. C is a
point on the circle. If AC = BC, then ZCBY =

o ot & gfd @i
(i) UH Id @l & SEE AB T CD TR Jd & <X T g P U Yiqress &l
21 afe PA=439, PB=x+3, PD=38M X PC=x+5, d x &I AN
.
(i) TH ga, fFasr F= 05 0 2, &1 ™ 4B T T Wl W1 XBY 81 g9 W
s fog C %1 afk AC=BC, @ LCBY =
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22 Match Column-I statement with the correct option of Column-II :

Column-I Column-II

(i) IfP (-1, 1) is the mid point of (A) 12
the line segment joining 4 (-3, b)
and B (1, b + 4), then the value
of b is:

(ii)) The perimeter of a triangle with B) -1
vertices (0, 4), (0, 0) and (3, 0) is:

©) 2
WY1 % BUT B @WH-11 & & fased § frm A -

-1 wH-11
(i) afs fagen 4 (-3, b) wd A) 12

B(1,b+4) & @Es & 77 {45
P(-1,1)% @ bl AN &
(i) uH TEr fryw, fad o fag (B) -1
(0, 4), (0, 0) Td (3, 0) &, &I
afE @
© 2

23  Fill in the blanks :

(i) If TP and TQ are the two tangents to a circle with centre O such that

ZPOQ =110°, then LPTQ =

(1)) ABCD is a cyclic quadrilateral in which AC and BD are diagonals.
If Z/DBC =55° and ZBAC =45°, then /BCD is

e @l & gid it

() %= forg 0% g9 & & wWet Y@M 7P wd 70 36 bR ¥ 6 LPOO=110°,

ar LPTO =

(i) AC qam BD Wa @b agqe & faavt ¥1 afy £LDBC =55° g
Z/BAC =45°, @ /BCD gl

68/0S/2—211-C | 9 MO A
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24 Fill in the blanks : 2

(i) The factors of 8x3 — 27)3 are and (4x2 + 12xy + 9y?)
2 2
(i1)) The difference of X 1 from = +1 is
x—2 x—2
e @t @ gfid @ifg -
() 83 - 27)3 & rEE g (4x2 + 12xy + 9?) ¥\
2 2
i) Tl X g o 2
x—2 x—2
25 Fill in the blanks : 2
(1) If the mode of the data 12, 16, 19, 16, x, 12, 16, 19, 12 is 16, then the value

of x is

(ii)) The median of a raw data is 24. If each item is increased by 2, then the
new median is

o T @1 gid ik -

(i) af stiwst 12, 16, 19, 16, x, 12, 16, 19, 12 & §ga® 16 &, A x & 94
gl

(i) TAYT Sfihel T AT 24 T | IS SNhS! Bl TdH & ®l 2 ¥ FoT fa=
W, T 4T Hifedes Tl

26 Fill in the blanks : 2

(i) If the circumference of the edge of a hemispherical bowl is 132 cm,
then the radius of the bowl is

(ii) If the surface area of a cube is 1350 cm?2, then the volume of the cube
is

o Tt @1 gid i -

(i) df TH TSN B T &b B DI B B gt 132 ¥y &, oY 39
CTAREC PR 2

(i) af¥ % o9 &1 g &6 1350 ot &t &, Y &9 & omaaA gl
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) 1 1
27 If sin (A—B)=5 and cos (A+B)=5, then: 2
(i) the value of 4 is:
(A) 45° (B) 30°
(C) o60° (D) 90°
(i) the value of B is:
(A) 60° (B) 45°
(C) 30° (D) 15°
) 1
afg sin (A—B)=§ 3T cos (A+B):%, a9
(i) A®BMAAET :
(A) 45° (B) 30°
(C) o0° (D) 90°
(i) B HF T :
(A) 60° (B) 45°
(C) 30° (D) 15°
28 Anjana and her mother Kavita went for a picnic. After having morning breakfast, 5

Anjana insisted to travel in a motorboat. The speed of motorboat was 18 km/hour in

still water. Anjana, being a mathematics student wanted to know the speed of current.

So, she noted the time for upstream and downstream journeys. She found that for

covering the distance of 24 km, the boat took 1 hour more for upstream than

downstream. On the basis of above information, answer the following questions :

(i) Let the speed of steam be x km/hour, then speed of the motorboat upstream

will be:
(A) (18 +x) km/hr

(C) (x —18) km/hr

(1) Quadratic equation representing given conditions is:

(A) x2+48x -324=0
(C) x2—48x +324=0

68/0S/2—211-C |

(B) (18 —x) km/hr

(D)

11

18 x km/hr

(B) x2-48x —324=0

(D) x2+48x +324=0

[ Contd...



(iii)) Speed of the stream is:
(A) 8 km/hr (B) 6 km/hr
(C) 4 km/hr (D) 9 km/hr

(iv) Time taken by the motorboat going downstream is:
(A) 60 minutes (B) 90 minutes

(C) 100 minutes (D) 120 minutes

(v) Relation between speed, distance and time is :
(A) distance = speed + time (B) distance = speed — time

(C) distance = speed x time (D) distance = speed + time
39T 3fX TTHT AT wBierar fepi=es X TN | Wbl A9 & U9 ST A HieSe
o g @ g @I oid 9l A ARt ol Tia 18 fhamie uiaq "uer oy I
famelt 89 % @R, SIS O % qeTE i W S Aredl A1 | 3EfY I8 9 %
&g @ faen wd faudia feom # @ e gwE e fan) sE g 6 24 ey
1 g @ 9 b go1E DI [qula fGem 7 99 A, UFl & S'E @ &G F @
el T W, 1 " Al FHI AT & | SUNGS B % SER R Fr=farad geai

% A SIfT:

(i) W AT 9T b S8Te i T x feere Sia =992t &, df 91 & 9erd ol fqudia
faenm # Hexdie @t iy Bel:

(A) (18 +x) fopeHiex ufaq =ver
(B) (18 —x) fparHiex wfd =ver
(C) (x —18) foparrex ufar =ver
(D) 18 x fopatrirex Wi =ver
(i) feu gu wfoeet & fefa s arar e ade &
(A) x2+48x—-324=0 (B) x2-48x —324=0

(C) x2—48x +324=0 (D) x2+48x +324=0
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(iii) U= & SEE @ i (e ufa gver #) @

(A) 8
© 4

B) 6
(D) 9

(iv) U &% SEE @l & ¥ WM W Hiekde g faar o aey

(A) 60 fFe

©

(A) T =7 + g94
(C) T =7fd x g9

100 fire
(v) T, ¥ &R g % 99 "9y §:

(B) 90 e
(D) 120 e

(B) Tl =ia — w7y
(D) T = - T

SECTION - B

g — g

29 Find the co-ordinates of a point dividing the line segment joining the

points A(—1, 7) and B(4, —3) internally in the ratio 2 : 3.

s U fog & frdsties sta @ifw < fagent A(-1, 7) 9o B(4, —3) & fram am
@rEs Bl 2:3 % o U # fawifa s 7

OR / 3t

Find the centroid of the triangle whose vertices are A(1, 3), B(-1, 3) and

C(2, 5).

Sq e % ¥we & Feae sa e fee i feg 4(1, 3), B(-1, 3) du
C(2, 5) 1

30 If the mean of the following data is 15, find the value of p :
afy freafafaa otiwet &1 areg 15 %, d@F p &1 99 3 BINT -

X

5110

15

20

25

/i

p

6

10

5
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31 Find the median of the following data: 2

ffaRad etfest @1 wiftas o @il

x; [ S]10[15]25 30
Si14l6|7]|3]5
32 PA and PB are two tangents, to a circle with centre O, drawn from an 2

external point P such that P4 = 14 cm. CD is another tangent to the circle at

point E intersecting PA and PB at C and D respectively. Find the perimeter of

APCD.

&% g O % ga & 9 fud fog P 9 990 W &1 Wyl W@ P4 qa1 PB 36 WX
it 15 ¥ 6 PA = 143 g9 W & o=y Wef Y@ CD, fag E oY didh T ¥
St PA 41 PB &1 sHeT: C 9T D U URiss &Il &1 A PCD T 9IHTT S1d BITTg |

33 ABC is an isosceles triangle with AB=AC and XA4Y is a tangent to the 2

circumcircle of A ABC. Show that XY || BC.

ABC ts gafgarg et @ a9 AB = AC qan XAY, Bist ABC % uftga w @t

@ ¢l fas s % XY || BC

34 A camera is sold for ¥ 5,000 as cash down payment and I 21,000 after 2

3 months. If the rate of interest charged is 20% per annum, find the cash price of

the camera.

T A % 5,000 % JL@ YA agr 3 9@ gearq < 21,000 @i feR 9X = S @l
31 Al U T = B g 20% AME 8, A BHX BT A6S o 3 DI |

68/0S/2—211-C |
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35 On 1-1-2021 the population of a village was 20,000. It increased by 10% 2
during first year but decreased by 10% in the second year. Find the population
of the village on 31-12-2022.

1-1-2021 &Y e Tig @7 seeEr 20,000 & 9o a6 7 T8 10% &I T § Tol 93
T TY F 10% 1 X F 9 M1 31-12-2022 ®I IH TG DB TG T B |

OR / a1yt

A retailer buys books from a wholesaler at the rate of ¥ 300 per book and
marked them at ¥ 400 each. He allowed some discount and earns a profit of
20% on the cost price. Find the percentage discount given to the customers.

TEh B faohdl Wah b fashar & % 300 Ui &dd & Wa § Yk @lEdm § oiK
g J&ih WX T 400 @1 T Sifehd HIAT &1 98 IT JEIh Dbl g T STDBL Hd ol
W 20% WA ARG HIAT ¢ | e Bl [ T el F37 Fhie s dieig |

36 A reduction of 10% in the price of tea enables a dealer to purchase 25 kg 2
more tea for ¥ 20,000. Find the original and reduced price per kg of tea.

T b T | 10% B A & T T S A % 20,000 # 25 fopar st A wliar|
g BT Wi fhel ardied Td g e qod §d el

OR / 31¥an

A machine listed at ¥ 9,500 is available for ¥ 7,600. Find the percent rate of
discount offered.

% 9,500 3ifpa e @! Al % 7,600 & fra @1 &1 ey 511 W 9% @1 fde@ X 9
BT

37 If a+l=2, find the value of a3+%. 2
a a

1 1
ax a+—=2, a3+—3 T T S BN
a a
OR / 3t
Factorise, 3a°bh—243ab>.

3a°b—243ab> % TGS BT
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38 The queen and jack of spade are removed from a pack of 52 playing cards. 3
One card in drawn at random from the remaining well shuffled cards.
Find the probability of getting :
(i) a red card or a king.
(ii)) neither a diamond nor a jack.

AT WA b 52 T H Y gFH Bl S SR A bl Fepld fordn S g1 W ol bl
3BT AT Hhedhl U U1 AGeRAl abrar Sl & | FfaRad @l i< & @l iiehar
BIGRCIIS LS

(i) UH A €1 AT Uh STEIME

(i) = @ 32 &1 g1 SR 1 & AW

OR / a1yt

Three coins are tossed simultaneously. Find the probability of getting:

(i) two heads

(i1) no heads

A Raapl &l U Trer Swren oA & | rEiaRaa @ ura s @ Wil sd it
(i) @ faa

(i) » faa &

39 Prove that the tangents drawn from an external point to a circle are of 3
equal length.

fog @ifsg o5 fopelt amer fog @ 990 W ©idl 8 @t Yanent @1 wEEsat @ g 2

40 Spherical marbles of radius 0.7 cm each are dropped into a cylindrical 3
vessel of radius 3.5 cm containing some water. Find the number of marbles
that should be dropped if the water level in the cylinder rises by 5.6 cm.

0.7 91 a1 & 38 %Y Ueh JaH 9o, ek STaR &I Beer 3.5 §6 g e
e 3B urFlt 7 ®, ® o/ W ¥ 9fE S & ae @ @Y 5.6 9 98 9, df S
T &dl Bl G&T 3 BT |

OR / a1yt

External radius of a hollow right circular cylindrical pipe is 9 cm and its length
is 14 cm. If the volume of the metal used to make the pipe is 748 cm3, find
the thickness of the metal.

T% W9 gAY SAHR Giad wigd B el B 9 AW ¥ ok gue Wi 14 4 ¥
gis 39 UISY & S § IUART &l 5 91g Bl STAa 748 & ¥l &, I 41g &l ARes

A I |
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41 Solve the following system of linear equations graphically : 3
frrefarea Yas ahete el & o™ a9y ¥ &4 Sy ¢

x+y=Tx-y=1

42 A sum of ¥ 700 is to be used to give seven cash prizes to students of a 3
school for their overall academic performances. If each prize is ¥ 20 less than

its proceeding prize, find the value of each of the prizes.

% 700 %1 UGN B Y Uh Whd & €A [Endal df 5% Jars gEeE & fag
QAR U 9 €| afe I JU@h ou | 9ed ard JR@R § % 20 &9 8, @ T®
T&BI T Jed §Id iy |

43 Construct a triangle with sides 5 cm, 6 cm and 7 cm. Construct another triangle 5

2
similar to it whose sides are 3 of the corresponding sides of the first triangle.

5L 6 T qAT 7 HH SIS BT Uk AU IAEYI 3Hh GHE TS 3 A4S

o e i, el g e B A el @ > @

OR / 31¥an

Construct a triangle ABC in which AB + BC + C4A = 10 cm, £B=60° and
ZC=30°.

s e ABC & @ sifwe fsad AB + BC + CA = 1089, B =60° q
ZC=130°.
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44 The shadow of a tower, when the angle of elevation of sun is 45° is found 5

to be 10 m longer than when it was 60°. Find the height of the tower.
(Take \3=1.732)

g @1 TG B 60° ¥ 45° B9 WX Th HAR @ BET 10 HeX g% Sl 8|
HMR &1 ey 719 BT (/3 =1.732 W)

OR / a1yt

The horizontal distance between two towers is 90 m. The angle of depression
of the top of the first tower when seen from the top of the second tower is 30°.

If the height of the second tower is 160 m, find the height of the first tower.

(Take /3 =1.732)

3 HARE % 91 afast g 90 WX §1 WU AR % R ¥ gee AMR 6 e
T ST BT 300 71 Al gl AR & Famg 160 WX 7, df vgal HHR &l S

Td BT (/3 =1.732 WfQ)
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